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X £ | B F | BEE | X £ | 81 £ | BEE | X £ | W1 F | BEHK
q & B R 85 79 6 2 1 1 94 86 8
B K 125 150 -25 2 1 1 135 177 -42
i} & 70 73 -3 2 2 78 85 -1
B & & 53 58 -5 60 66 -6
i & 169 1 -2 4 1 3 183 193 -10
B v} 12 6 6 1 -1 13 5 8
w o E 334 351 -117 3 3 358 384 -26
B oW 7 130 151 -21 137 179 -42
w W @ 237 251 -14 4 4 263 270 -1
AFER 7 9 -2 1 2 -1 7 8 -1
# ¥ 53 56 -3 1 4 -3 56 59 -3
X M 46 35 11 5 1 4 48 40 8
AN 23 25 -2 1 2 -1 26 26
i} ¥ 20 24 -4 1 1 24 27 -3
F M B 43 67 -24 1 1 48 74 -26
= 2] 1 10 -9 1 1 -10
= 5 21 14 7 2 1 1 24 17 7
BEF A @ 514 537 -23 10 4 6 563 612 -49
N 761 818 -57 9 13 -4 821 900 -79
BF A @ 133 161 -28 8 5 3 147 178 -31
B AN & & 1,429 1,530 -101 29 23 6 1,555 1,707 -152
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X £ | B F | BEE | X £ | 81 £ | BEE | X £ | W F | BEHK
B 48 31 17 1 1 27 20 7
B K 66 75 -9 2 1 1 38 50 -12
i} & 30 24 6 19 19
B & @ 26 23 3 13 12 1
i & 75 74 1 4 4 42 44 -2
B v} 5 5 1 -1 4 3 1
w o E 107 107 2 2 46 56 -10
B oW 7 55 56 -1 31 27 4
w W @ 91 90 1 3 3 60 42 18
AFER 2 3 -1 2 3 -1
# ¥ 22 28 -6 1 4 -3 12 14 -2
X M 18 19 -1 4 1 3 10 12 -2
AN 12 10 2 1 2 -1 4 8 -4
i} ¥ 8 18 -10 1 -1 4 16 -12
F M B 28 38 -10 1 1 18 23 -5
= 5] 1 9 -8 1 9 -8
= = 4 2 2 2 1 1
BEF A @\ 250 232 18 7 2 5 143 148 -5
N 277 284 -7 6 9 -3 151 142 9
BF A @ 67 94 -21 6 4 2 37 68 -31
B AN & &t 598 612 -14 19 15 4 333 359 -26
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